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1. 'X1, · · · , X36
i.i.d. P(4)5µ�r.v.’s��X = (X1 + · · · + X36)/36��£�
P (3.76 ≤ X ≤ 4.63), ¬|Φ���

2. �1�nÝnÍrD�, �^órmg, Ngó�¡w/��N�^�ó�ÝrD
ó��O

(i) E(N);

(ii) Var(N);

(iii) 	m = n, lim
n→∞

E(N)/n�

3. (i) 'X
×r.v., g(x)
×&�Ðó, v��E(g(X))D3��JE∀c > 0,

P (g(X) ≥ c) ≤ E(g(X))

c
;

(ii) 	E(X) = µ, Var(X) = σ2/D3, �JP (|X − µ| ≥ kσ) ≤ 1/k2, ∀k > 0;

(iii) 'XbΓ(3, 1
3
)5µ, ¿à(ii), �OP (|X − 1| ≥ 1)�×î&�

(iv) Y(iii), �O�P (|X − 1| ≥ 1)�Â, ¬�(iii)�Xÿî&f´���

4. 'X1, · · · , Xn
i.i.d., n ≥ 2��J

(i) Xn+1 = (nXn + Xn+1)/(n + 1);

(ii) nS2
n+1 = (n− 1)S2

n + (n/(n + 1))(Xn+1 −Xn)2
�

5. 'XbFn,m5µ, �OX�p.d.f.�


